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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any FOUR questions.

3. All questions carry equal marks.
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1. In what ways have the regional studies influenced our

understanding of the eighteenth century?
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Explain the ways in which the English East India
Company expanded and consolidated its empire in

India up to the mid-nineteenth century.

I Ul &) AT & ) foeh WieAd d Hden s&e 3R
FHO A IHEE G H T e WRA A IO GESd &l
fawr sl gdtaeor faam

Analyze the background and impact of Permanent and

Ryotwari land revenue settlements.
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Critically examine the process of de-industrialization

in the colonial period?
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Write an essay on the rise and growth of western

education in the 19th century British India.
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6. To what extent the question of women was prominent

in the reform movements of the nineteenth century?
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7. Analyse key debates on the nature of the revolt of
1857.
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8. Write short notes on any two of the following:
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(i). Army and Police under Company rule
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(i1) Evolution of Law and Judiciary
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(iii). Ishwar Chandra Vidyasagar
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(iv). Colonial Forest Policy
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v) Clommercialization of Agriculture
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(vi). Indigo Rebellion
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